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52 [1] Allow I credit. Acceptable responses include, but are not limited to:
Zinc is more active than hydrogen, but copper is less active than hydrogen.

On Table J, Zn is above H,, and Cu is below H,.
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62 [1] Allow I credit. Acceptable responses include, but are not limited to:

Electrons flow from the copper electrode to the silver electrode through the wires and
voltmeter.

The e~ flow is from Cu to Ag in the external circuit.

from anode to cathode
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63 [1] Allow 1 credit. Acceptable responses include, but are not limited to:
The salt bridge allows for the migration of ions between the half-cells.
The salt bridge prevents polarization of the half-cells.

maintains electrical neutrality
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75 0]

76 (1]

77 [2)

Allow 1 credit. Acceptable responses include, but are not limited to:

Pb + 26— Ph

Allow 1 eredit for +2.

Allow a maximum of 2 credits, allocated as follows:
« Allow 1 credit for a correct numerical setup. Acceptable responses include, but are not limited to:

160 gmol |00
2232 g/mol

16(100)

2232

« Allow 1 credit for 7.17% or for a response consistent with the student’s numerical setup.
Significant figures do not need to be shown.

Note: Do not allow credit for a numerical setup and caleulated response that are not related to the
concept assessed by the question,




image1.png
60 [1] Allow 1 credit. Acceptable responses include, but are not limited to:
The electrons flow from the Mg electrode to the Cu electrode.

from anode to cathode

61 [1] Allow 1 credit. Acceptable responses include, but are not limited to:
The salt bridge allows fons to flow between the half-cell.

preventing polarization

62 [1] Allow 1 credit. Acceptable responses include, but are not limited to:

Copperions from the solution are redced to copper atoms at the electrode, increasing the mass
of the electrode.

Copper ions become copper atoms.

The number of copper ions decreases, and the number of copper atoms increases.
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69 [1] Allow I credit. Acceptable responses include, but are not limited to:
Magnesium is more active than hydrogen.

H, is less active than Mg.

70 [1] Allow 1 credit for Mg(s) + 2 HCl(ag) = Hy(g) + MgCly(aq).

Allow credit even if the coefficient “1”

s written in front of Mg(s), H,(g), and/or MgCl,(aq).

71 [1] Allow 1 credit. Acceptable responses include, but are not limited to:

Mg — Mg* + 2~
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82 [1] Allow 1 credit. Acceptable responses include, but are not limited to:
A battery is part of the cell and is providing energy that causes the reaction.

Electricity is used to operate the cell.

83 [1] Allow 1 credit for 2 to 0.

84 [1] Allow 1 credit. Acceptable responses include, but are not limited to:
Litmus turns blue when a sufficient amount of hydroxide ions are produced.

The reaction in test tube 2 produces OH™ ions that make this solution basic. Litmus is blue in
a basic solution.
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64 [1] Allow I credit. Acceptable responses include, but are not limited to:
Ni(s)
the nickel electrode

Note: Do not allow credit for Ni**(aq).

65 [1] Allow I credit for 2.0 mol. Significant figures do not need to be shown.

66 [1] Allow I credit. Acceptable responses include, but are not limited to:
Agh+em— Ag

2Ag* +2¢” — 2Ag
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73 (1] Allow 1 credit

Example of a l-credit response:

Potential Energy

Reaction Coordinate

Note: Do not allow credit if the potential energy of the reactants or products is changed.

74 [1] Allow 1 credit for a response indicating +2 for carbon in CO and +4 for carbon in CO,.




